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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER ~ III « EXAMINATION — WINTER - 2016

Subject Code:3335801 Date: 19-11-2016
Subject Name: Mechanical Engineering for Printing
Time: 10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6. English version is authentic.
Q1 Answer any seven out of ten. £2Hil SlEURL UL oll wellol M.

1.  Define strength.

. wele(l cautuul AL,

2. Write the formula for finding power in power transmission.

. WAR loH{lMetHl WaR ual HiZe] Yot vl

3. Define Speed ratio.

3. ls Aol cautvaul 20l

4.  Write the value of L.C.M. of vernier caliper and micrometer?

¥,  cofl2R 3AuUR ua wsileRell e HLal Aul.

5. What do you mean by foundry?

U slGogl A2A 9?

6.  Give any two differences between Hot and cold working process.

S.  8le dlSol wA 55 AlSol A SPURL 2 dAslald AL

7. Give the name of any 4 types of drilling Machine.

9. sledlot Hallot oll S1EF URL 4 USRall oll ollM MWL

8.  Why filters are required in machine?

¢.  HllotHi (3ce? 2w W »33l B2

9.  Explain about Slip of belt.

¢. Aol ey @AW yuesAl.

10.  What is the function of drilling machine? List any two use of drilling

machine.
0.  glclot Hellotef stal g B? glclot Hallat oll SlESuRl 2 GUAN AV
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Draw neat Sketch Of micrometer

ollH [(AE et A HEsIHl2R6{l 2us(d €13,

OR
Write the types Of open belt drive.

WUl A slefcloll UsiRe{l ael .
Define (1) Porosity (2) toughness (3) Density
cqludl AU (1) Slalgcl (2) AHAES (3) dotcll

OR
Draw the Neat Sketch of open Belt Drive.

AUl Ace gleSatoll 2ate ausld €13,
Define (1) ductility (2) brittleness (3) hardness(4) Creep
cluAl AL (1) ol (2) HURScl (3) $6RUY (4) UL

OR
Give the Name Of thermal Properties.

Guflal ot ot otti 2
Enlist types of followers.
glAlcRatl Yste(l ALel 2.

OR
List advantages and disadvantages of belt drive.

ol Slefclall SlAEL Aol ARGLAEL AL,

Write short note on fasteners.
oius (AW &5 ol vl

OR
Draw Neat Sketch Of Compound Gear train.

$1UGeS PlAR 28atoll 2wy wuslA €13\

Draw the displacement diagram of uniform velocity with proper
nomenclature.

BRAN AL HERZ ollH [AE et WA Slw@ue st €R\.

OR
Enlist types of core and explain any two in detail.

$12 ofl €l wdl sleSuRL 2 AHstal.

List the operations which can be performed on lathe machine and draw any
two operation with nomenclatures.
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A Hallot U 531 astdl AUt ALEL AL 5185 URL A U2t

ol e wgld 1R
OR
Give the applications of sheet metal process.

e Aect ol Gulolldl el
Enlist types of pattern material and explain any two in detail.
Yeol HAlladel auel audl sleSupl 2 UMl

OR
Explain Applications of Pumps in Printing Industry.

Qo GelotHl Wine{l Gualollcl 1L,

In a power transmission of flat belt drive the tension in slack side (T>) is
3000N Whereas initial tension (T, ) is 5000N. Find the tension in tight side
(T1).

$A2 Ul UlaR 2lotM 2ot Hi A5 Gll%g(T2) Hi cellel olot 3000N B.

AR AIUlclo] ALl Ho(T,) 5000N &lal dl 2lefe ey (T1). Ml

dellel ool 20

OR
Draw neat sketch of lathe machine with nomenclature.

ollH AEalet A A H2lloto{l 2us(d €12
Give advantages and disadvantages of casting process.
SIREOL WAL SLAEL L A FLAEL AHX1A.

OR
In a power transmission of flat belt drive the tension in slack side is 5000N
with angle of contact 150°. If the coefficient of friction is 0.25 than find the
tension in tight side.

$A2 Ugl UlcR 2lodMalet Hi AS oy Hi llLel 6ol 5000N B. Ul

Aub oll 510 150 (Sofl B. % ural ol dyRlis (Coefficient of friction ) 0.25

slal dl algf2 iy Hi dlua oo 0l

Explain construction and working of single stage reciprocating air
compressor with figure.

AUsA €13 @otet R 2ARWH(Eo1 AR sLYAUR ofl Ut AUl
slelugld UHostAl.

Enlist main parts of lathe machine.
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AU Hallot ol Yyt @l ol oltHell aLel 2
Enlist types of pattern.

Vel ol ystell atel .

Explain the applications of Air compressor.

AR SLYUR ol BUA ([l UMl

Draw neat sketch of centrifugal pump.

Aedlgpoid Uuell e ausld Rl
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